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= 200,000
= 200,000
202 BIATEOIH 400,000 0 400,000
2 200,000
2 200,000
0 DIRERE 200,000 0 200,000
OIS E0lE ol R B S
500,000,002 x hax0.8 400,000
2 200,000
2 200,000
== oS (sHAAL/EY - 5E) 1,963, 180 637,080 1,326,100
= 625,826
2 75,000
= 42,400
< 65,860
2 1,154,004
so MEolgy 1,462,078 314,304 1,147,684
= 492,085
= 15,000
< 52,860
2 902, 133
soome s 23,152 41,703 18,551
201 wereey) 20,352 39,703 719,351
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X XH .
(=

chel:

SE S (SYHYEL/5Y - 5E)
59 H2012]4

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
01 AtR2teld 18,735 33,783 A~ 15,048
Osgo M2s8 gaus TA=E 9,000
—J== 100, 0003 * 1Al 2kx20H 33| 6,000
—=Jtg 50,0003 * 1Al 2t+x20H +33] 3,000
Ou=s =& 2235 F2¢ 9,600 x10&*104 960
O=sg3E gAMHA 2Y 8,500,000& *0. 15 1,275
OXtere &t 500,000& *1CH*152] 7,500
02 522944 1,617 5,920 24,303
Ou=sd A= 1,400& 1, 1550 1,617
202 O4Hl 2,800 2,000 800
01 =LAl 2,800 2,000 800
OZ A 2,800,000& 2,800
S NAFHSU= 5,150 0 5,150
201 Lt 4,450 0 4,450
01 AtS2eld] 4,450 0 4,450
OZ A= 2,700
—Jl2g 100,000& «1H +18=] 1,800
—FtE 50,000& x1& x183] 900
OXt&Fe &t 500,000& = 1CH =23 1,000
OuM+¢ 30,000 x50 0.5 750
301 YA 700 0 700
10 BAIAHIENS 700 0 700
OFAX 24 7,000& *50E 23| 700
IR EsYQItHE 90,000 0 90,000
201 LEH23H] 66,000 0 66,000
01 Atf2teld 66,000 0 66,000
o288 ¢ 100, 000& 30 22| *31t H 18,000
OstAI22 ol H¢
100,000& 30 12«31 H 9,000
O&HIH M2 100,000 *10E «3 1 & 3,000
Ol =2 100, 000& =54 *3 0t & 1,500
OuM+¢ 100,000 30 *13] «3 14 & 9,000
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A JI=X3 1

HH: SE R (SYHYSM/S5Y - 5&)
o9 s M20I2TY Rk
_ _ MNuE o
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o bRz
D F FH4-HH Y 3 7,000 3,000 4,000
307 21201 H 7,000 3,000 4,000
04 DIANBARE 7,000 3,000 4,000
ORI 148 SRE4-HABCHE HE
7,000,000 13| 7,000
4HE RS A 18,000 19,500 A1,500
201 eyl 1,000 1,500 A500
01 AR el 1,000 1,500 A500
ODHIDS AA2Y 100,000 *1 Al 2++103] 1,000
206 2t 1,000 1,500 AB00
01 =8l 1,000 1,500 2500
OBMDE WERY 100,0002 10| 1,000
01 ABEHS 2,250 2,750 A500
10 BAAUIZAS 2,250 2,750 A500
ODMDS SAMHIES 50,0008 %1103 500
OMTSEME HA2A 50,0002 +35% 13 1,750
307 2120l 13,750 13,750 0
VREEEES 13,750 0 13,750
O4-Hal® B3 4,200,000 1] 4,200
ORI 198 5E57 4-H5| @ 3t e Al
4,000,000 13| 4,000
O4-Hzl® OFA DR 5,550,002 13| 5,550
sJ|H =542l 4,310 5,010 AT00
201 Ysregyl 4,310 5,010 AT00
01 ARl 1,160 1,160 0
OB #3428 227
4002 x2 % x2002 160
O =3l42l= 7
100, 00021 *5% x22 1,000
;2 Bz 3,150 3,850 ATO0
O #3428 227
25,0002 %365 *33] 2,700
O =342 SE4) 30,0002 * 155 450
SIHYUAR2Y 23,000 0 23,000
201 Ysregy| 23,000 0 23,000
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2M: JlsX&
B sE QIR (SHHL L sx)
el =9 A0l A o &8
SN HB - S2(3H) - MEAY - BAS Abol e HRZ2
02 B229H| 23,000 0 23,000
O2UsIIH SX2el 353, 846& *65CH 23,000
4-H3| R HE S 21,000 21,000 0
= 15,000
iy 6,000
206 =4I 6,000 6,000 0
= 5,000
2 1,000
01 MHEHl 6,000 6,000 0
Ost4-Hgl HHES 2,000,000& *3H A~ 6,000
= 5,000
= 1,000
402 QIZ2HXE0| A 15,000 15,000 0
= 10,000
2 5,000
01 QI2X=2EX 15,000 15,000 0
O =s4-Hald AMNEHE= 5,000,000& *3H &~ 15,000
= 10,000
= 5,000
ASsSHEWH XA 100,000 0 100,000
= 50,000
iy 50,000
402 QIZ2EXE0| M 100,000 0 100,000
= 50,000
iy 50,000
01 QI2tX=2E X 100,000 0 100,000
OY9s=ssd LHHXA 100,000,000 * 1 2~ 100,000
= 50,000
= 50,000
MESEI)=u= 12,850 14,860 A2,010
= 6,425
o 6,425
201 LErEAH| 8,150 7,320 830
= 4,075
iy 4,075
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SH: ISR ]
HH: =& OINSH(SYNYSM/5Y - 5E) N
o9 s M20I2TY
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 gggf; HRs2
01 ARl 8,150 7,320 830
OMHSsLANRSE 20t 60,0002 *5} 300
2 150
i 150
OESBNHDS 849 60,0002 *57H 300
= 150
2 150
OGAPLI = & =9 50,000& *2H 100
= 50
i 50
OXPsns 4ot 50, 0002 *4} 200
= 100
i 100
OMHSSLARE BASY 2,000
—J2= 100, 000& * 1Al 2tx102] 1,000
= 500
= 500
—FItg 50,0003 *2Al 2t%102] 1,000
= 500
- 500
OESPALWS LALL 1,000
—Jl2z 100,000& * 1Al 2+x53] 500
= 250
i 250
—=Jtg 50,0003 *2Al 2t*53] 500
= 250
z 250
OGAPLLE 2 Al=H 600
—JIEgs 100, 000& *1 Al 2+x23] 200
= 100
[ia 100
—=Jt=g 50,0003 *4A| 2t%23] 400
= 200
i 200
O&EEstus ZAMsY 600
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A J=X 0

M sE JASM(SEHSSM/SY - 5E)
o9 s M20I2TY Rk
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
—J== 100,000 & « 1Al 2t*43] 400
= 200
fiis 200
—FltE 50,0003 * 1Al 2t*43] 200
= 100
s 100
OMHE=s&€AHALNE W+ 4,500& *400% 1,800
= 900
fia 900
O&E2stus WM+ 10,000& »255 250
= 125
i 125
OMHEs&EAH s AS XS
500,000& *1CH 23] 1,000
= 500
i 500
202 OdHl 1,000 2,790 21,790
= 500
= 500
01 SLHAHI 1,000 2,790 21,790
OMolgdsdAns Fa 0|
20,0003 x5EH «103] 1,000
= 500
i 500
301 utEa=s 3,700 4,750 A 1,050
= 1,850
i 1,850
10 SAIAHIENS 3,700 4,750 A 1,050
OMolgs&dAlns S4i 24
5,000& 400 2,000
= 1,000
i 1,000
OMlZsdHluns ZAaHI 24
50,0003 x 12 +105] 500
= 250
i 250
OSSE&EusE F&8L 24
5,000& 100 500
= 250
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A R =PRI}

HH: & QNS (SYHYLM/SY - 5E)
o9 s M20I2TY Rk
_ _ HE T
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
= 250
OCGAPL = & 4AX 24t 5,000& *70E *23| 700
= 350
i 350
sgeliist=2d 30,000 30,000 0
2 15,000
i 15,000
201 LprE3AH| 19,200 12,750 6,450
= 9,600
= 9,600
01 AR 2cldl 19,200 12,750 6,450
OF 42 M= 50,0002 * 174 50
2 25
i 25
OAIH A& 100, 000& *3H 300
= 150
i 150
OuM+¢ 100,000 *30E 13l 3,000
= 1,500
s 1,500
o288 ¢ 45,0003 *30E 13| 1,350
= 675
i 675
OttM=E 2 100,000& «30H 12l 3,000
= 1,500
2 1,500
OZAt=¢ 9,000
—J2= 100,000 *1 Al 2t %302 3,000
= 1,500
[ia 1,500
—FI= 50,000& x4 Al 2+x302] 6,000
2 3,000
i 3,000
OC8ZUS s Xt 500,000& »53] 2,500
2 1,250
2 1,250
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SN JISTE D
HH: sE QRSN (SEMYLL =)
9l 50 MEASY Cro): 7 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Aol Sl ko HRE2
301 YEtEa= = 210
= 210
10 AIAHIE &= 420 200 220
OEZOIZI2ZNS BAT B4
7,0002 +302 23| 420
2 210
fia 210
405 Xrarz St 34,400 62,600 28,200
= 17,200
= 5,160
i 12,040
01 XA ESESH=HI 34,400 62,600 228,200
ogsalls ¢ 28,000
=SSO (U E) 28,000,000 = 1CH 28,000
= 14,000
= 4,200
i 9,800
OXYS3AIIE 2 6,400
—SEREI(HSA) 6,400, 000% = 1CH 6,400
= 3,200
= 960
i 2,240
SIHS A 912,496 13,000 899,496
= 400,000
= 512,496
401 Al&HIZ =204 512,496 0 512,496
= 200,000
i 312,496
01 Al&HI 501,504 0 501,504
OB&&D M= 501,504
—ol= % AN
480,000,0002! #4. 48% 21,504
— Al H 600, 00021 x800 %83.3333/100 400,000
= 200,000
fiis 200,000
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A J=X 0

HH: =& OINSH(SYNYSM/5Y - 5E)
o9 5 MEolRH (e19: @8
_ _ _ Muo
N33 S2(3H) - MEAMY - BES Aol Ofl At ot HwsZ
—AEH(ZH=0IRE2)
600,000 *B00 *16.6666/100 80,000
02 22l 7,968 7,968
ozl 480,000,000 *1.66% 7,968
03 A&l 3,024 3,024
OA &= Y| 480,000,000 *0.63% 3,024
405 THHF S 400,000 400,000
= 200,000
2 200,000
01 XAUSEHSH] 400,000 400,000
oAUBEIIH 2 11,111, 1102 36CH 400,000
2 200,000
2 200,000
QOIZX RS & 97,800 97,800
= 47,700
2 50, 100
201 L2yl 22,300 22,300
= 9,950
2 12,350
01 AtR2elt] 22,300 22,300
ONE X & HBDIIEY
500,0002 *6CH x23] 6,000
= 3,000
2 3,000
Os072Y XIS U
500,0002 53] 2,500
= 1,250
2 1,250
O4-HEEX =R 6662 %1005+ 122 800
= 400
2 400
OYs4-HELS SALEY 1,000
—Je3 10,0002 1Al 24+53] 500
= 250
2 250
—xJ2 50,0002 x2A| 2+*53] 500
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M J=X3 L
XEH: == O
[ I —
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-/
el 58 &2

1
x
X
o
i
10
5
X
=
1
=
1%
g
0x
i
2
>
]2
=20
R
12 H
o
£l
Ol
0y

250
250

Homn

OsEN=NEEAN #1582

2,352 93 4258« 128 12,000
4,800
7,200

Mo

206 M=l 2,500 0 2,500

H

1,250

H

1,250

01 M=ZHl 2,500 0 2,500

odg

O

4-H

o

g3t o

s

tol

K= 5,000& 20 x53] 500

250
250
Ot w4-HUtNES K& 200,000 1074 12 2,000

M

1,000
1,000

M H

301 etEA= 5,000 0 5,000

in

2,500

M

2,500

10 HAAMHIZES S 5,000 0 5,000
OsEXNcitzgde 3424 5,000& 600 3,000

1,500
1,500

Mo

5,000& +60Z %53 1,500
750
750

Ogs4-HEda 42y 5,000& *20H %52 500

Hon

250
250

Mo

307 QIZ2told 10,000 0 10,000

H

5,000

A

5,000

o
o

1=
s
oy
0z
HT
FA

10,000 0 10,000

[

O
H
O
Tt
=

S X 2 &0t 10,000,000& * 12 10,000

5,000
5,000

M H
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A JI=X3 1
B SE OSM(SYHL S/ 5D - SE)
ol =9 MEolgA S
M- B SR(B) - HRAY - BE S Ak e 2
402 SI2EXt=01 & 58,000 58,000
& 29,000
2 29,000

01 QtR=8=x 58,000 58,000
OGS sUH X 10,000,000& *1JH 2~+0.8 8,000
= 4,000
o 4,000

Og=s=AHAMU HMEs XA

50,000,000& * 104 A& 50,000
& 25,000
o 25,000

s833 N 34,362 AN20,384
= 13,741
= 7,400
= 13,221

sEXNTI2EBelTet 14,800 A 16,500
= 7,400
= 7,400

405 XHAHFSHI 14,800 216,500
= 7,400
= 7,400

01 XML ESEFHSHI 14,800 A 16,500
OZgagdd 7 3,000, 0002 *1CH 3,000
= 1,500
i 1,500

ONESMA ge2gs)l 2

10,000, 000& * 1 CH 10,000
= 5,000
i 5,000
OEEstusZ T2y +¢ 900, 000& »2CH 1,800
& 900
i 900

HEHI) =TS 6,242 6,242
= 3,121
= 3,121

201 BRI 1,802 1,802
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Jl=XI& Dt
S&E oS4 (S5 ST
SHAY X Rk
SN S(B) - NRAY - B2 Aro e =2
i 25
SMSASZAE 4,320 4,446 A 126
= 4,320
202 Oddl 1,440 1,806 A 366
= 1,440
01 =Wobl 1,440 1,806 A 366
OsdMESASEIAMN F
20,0003 »36= Jt+22] 1,440
= 1,440
301 ptEasg 2,880 2,640 240
= 2,880
12 JIEIE A3 2,880 2,640 240
OstE LS XA =
80,000& »36= It 2,880
= 2,880
sgJI=sEEs 9,000 9,000 0
= 6,300
= 2,700
101 Q12| 8,981 8,928 53
= 6,286
= 2,695
10 JIZtHZ2 2 X 8,981 8,928 53
OsgllzsEz 2 8,981
—Jl2a 34,0903 x1H %194 6,614
= 4,630
i 1,984
—=x==g 34,0903 x1H «36=F 1,228
= 860
i 368
—xtR3 34,0903 x1E 94 = 307
= 215
i 92
—=30AZ 8,183,000& *4.5/100 369
= 258
i 111
—HZEE 8, 183,000 *2.385% 196
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S JIEXAD
Ha: 5E QNSH(SYHYLN/5Y - 5F)
ool =AAY XS (649 & 2
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 137
2 59
~ I QU 200, 8402 *4.05% 9
= 6
2 3
—ngy 8, 183, 00024 %0, 45% 37
= 2
2 11
— A2 8, 183,000 %27/1,000 221
= 154
2 67
202 o1l 19 72 A53
= 14
z 5
01 =Uioit] 19 72 A3
OsIIEZ2a R0l 19,0002 13| 19
= 14
2 5
So - sE 40 B oay 466,740 267,940 198,800
= 120,000
= 75,000
= 20,000
= 3,000
2 238,740
sSEMEAS 1,500 6,500 A5,000
201 B2yl 1,500 1,500 0
01 Ar2zelt] 1,500 1,500 0
OBI20f, 2B, ATHRIE 50,0002 30 1,500
HESAYEHNS 11,000 9,600 1,400
201 Ypr2gy| 4,200 4,200 0
01 A2 zelt] 4,200 4,200 0
ORM 7 10,0002 10052 1,000
SEP 40,0002 #504 200
OFAIZ 2 RI= 1,000 *1007H 100
OBESA 25 M= 3,000 %500 1,500
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A JI=X3 1

HH: SE QR (STHYSM/SY - 5E)
Ol =59 - mE 49 I EY Rk
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ofl AF o4 il b o bRz
O A= 70,0002 * 1Al 2+203] 1,400
206 &Yl 4,000 4,000 0
T 4,000 4,000 0
OAETHE 7 10,0002 ¥208 x203] 4,000
01 YREHI 2,800 1,400 1,400
10 BANHENZ 2,800 1,400 1,400
OFMT 24 7,000 %20 %203 2,800
HEsYARLSDS 14,440 13,840 600
201 Ysregy| 3,840 3,840 0
RSN 3,840 3,840 0
OEELT 35, 00021 =40} 140
OEEDS HTYX 500, 0002 *1CH*23] 1,000
O A2 70,0002 * 1Al 24+ 103] 700
OSEY MEHAHS HAT
500, 00021 *4CH 2,000
206 &I 1,500 500 1,000
01 M=t 1,500 500 1,000
OAETR 7Y 5,000 x50% +63] 1,500
01 YurBAZ 9,100 9,500 A400
10 BAMHEAS 9,100 9,500 A400
OMBIISDS HHX 24
7,00021 *502 63| 2,100
ORSDS AT 24 50,0002 *20% *33] 3,000
OSEY MBHAHS HABY
20,0002 *40% *53] 4,000
SENALSHDR 8,800 4,000 4,800
201 eyl 2,000 0 2,000
01 ARl 2,000 0 2,000
OEIY=S 100,0002 *1 Al 20%203] 2,000
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